D1vISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH A REMAINDER 1;13:: o

) —21608 + (=8) = 556) 30894 -6 =

) 703+ (—3) = ) 56580 = (—8) =

) 11825 + (=7) = w9 —24175 + (=8) =

) 7803 + (—=2) = %9 1693 + (—=2) =

) —3952 =2 — 590 47152 + 5 =

576 —H7657 + 6 = o —=21077 =+ (=7) =

) 8471+ 1 = 92) 73345 + (—10) =

518) 31240 -4 =

79 7906 + (—3) =
550) —30386 + 7 =

s 25350 = (—3) =
582) 27271 +6 =

w9 —53397 + (—9) =
s8) —H0133 + 10 =

) 3518 = (—7) =

Mathematics: Division - Level 8 - Horizontal - Set 5
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—15976 = (—6) =
—56177 = (—8) =
—20052 = 4 =
14735 + (—2) =
4263 = 1 =
—29748 + 8 =
6036 = (—5) =

62689 = (—10) =
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